(30 Points) (1) In the circuits shown,
Rs=5 KQ, R=1KQ , and Gm=10 mA/V,
Ro=10 KQ and RL=10KQ .
a) InFig.1, Find the gain A=Vo/Vs.
b) InFig.2, Find the gain A=Vo/Vs.
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(40 Points) (2) In the given circit, W
R1=10 K ,R2=50 K ,C1=1pF and L R

C2= 1nF. Find the transfer function - {
T=Vo/Vi . T should be in the form

T=K(1+u8).../(1+128)...

And numerical values of K ,T1 and T2 should be specified .
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(30 Points) (3) For the given transfer function, sketch the magnitude and phase of its bode plot.
T= (1 +0.06 S)(50 +5*10 S)/(1+0.01 S)(1 +5*10* S)
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